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Note : This paper is of forty (40) marks containing three 

(03) sections A, B and C. Learners are required to 

attempt the questions contained in these sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= pkyhl ¼40½ vadksa dk gS tks rhu ¼03½ 

[k.Mksa ^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks 

bu [k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa 

ds mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nine and half (9
1

2
) marks each. 

Learners are required to answer two (02) questions 

only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, lk<+s ukS (9
1

2
) vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. What is plasmolysis ? Illustrate with the help of 

diagram.  

thonzO;dqapu D;k gS \ fp= lfgr le>kb,A  

2. „Transpiration is a necessary evil.‟ Explain it.  

^ok”iksRltZu ,d vko’;d nqxqZ.k gSA* bls le>kb,A 

3. Describe Calvin cycle in detail.  

dSfYou pØ dk foLrkj ls o.kZu dhft,A  

4. What do you mean by Photoperiodism ? Describe its 

types and mechanism.  

nhfIrdkfyrk ls vki D;k le>rs gSa \ blds izdkj rFkk 

fØ;kfof/k dk o.kZu dhft,A  

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of four (04) marks each. Learners are 

required to answer four (04) questions only.  
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uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, pkj ¼04½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. Differentiate between transpiration and guttation.  

ok”iksRltZu ,oa fcUnqlzko esa vUrj dhft,A  

2. Differentiate between active absorption and passive 

absorption for water.  

lfØ; ty vo’kks”k.k ,oa fuf”Ø; ty vo’kks”k.k esa vUrj 

dhft,A  

3. What are hydroponics ?  

gkbMªksiksfuDl D;k gSa \ 

4. Describe Practical applications of Auxins.  

vkWfDlu ds iz;ksxkRed vuqiz;ksx le>kb,A  

5. Describe the factors affecting translocation of organic 

solutes.  

dkcZfud foy;ksa ds LFkkukUrj.k dks izHkkfor djus okys 

dkjdksa dks le>kb,A  

6. What is two pigment system ?  

nks o.kZd rU= D;k gS \ 

7. Describe the biological significance of lipids.  

olkvksa dk tSfod egRo le>kb,A  

8. What are antitranspirants ? Explain.    

ok”iksRltZujks/kh inkFkZ D;k gSa \ le>kb,A  
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Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of half  1

2
 mark each. All the questions 

of this section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, vk/kk  1

2
vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Fill in the blanks.  

fjDr LFkku Hkfj,A  

1. One atom of ........... metal is present in the chlorophyll 

molecule.  

DyksjksfQy v.kq esa 
-------------------

 /kkrq dk ,d ijek.kq fLFkr gksrk 

gSA  

2. ............ soil has greatest water holding capacity.  
------------------

 feV~Vh dh ty/kkj.k {kerk lokZf/kd gksrh gSA  

3. Decrease in atmospheric pressure leads to ............. the 

rate of transpiration.  

ok;qe.Myh; nkc esa deh ls ok”iksRltZu dh nj esa 
----------------

 

gksrh gSA  

4. ............. element is related with the photolysis of water.  

------------------- rRo ty ds izdk’kh vi?kVu ls lEcfU/kr gSA  

5. Glycolysis occurs in the ............ of the cell.  

Xykbdksykbfll izfØ;k dksf’kdk ds 
-----------------

 esa lEiUu gksrh 

gSA  
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Indicate whether the following are True or False. 

bafxr dhft, fd fuEufyf[kr lR; gSa ;k vlR;A 

6. Ethylene affects ripening of fruits.  

bFkkbyhu Qyksa ds ifjiDou ij izHkko Mkyrh gSA  

7. Glycogen is a plant protein.  

Xykbdkstu ,d ikni izksVhu gSA  

8. Protein part of enzyme is called apoenzyme. 

,Utkbe dk izksVhu Hkkx ,iks,Utkbe dgykrk gSA  

9. Plants bend towards dark.  

ikS/ks va/kdkj dh vksj eqM+ tkrs gSaA  

10. Primary structure of proteins is due to peptide bonds.  

izksVhu dh izkFkfed lajpuk isIVkbM cU/kksa ds dkj.k gksrh gSA  
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